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Instructions :
(i) This question paper contains three Parts : ‘A',*B’and °C".
(11) Part *A’ is compulsory for all candidates.
(iif) Candidates shall attempt only one part of the remaining Parts ‘B’ and *C".
(1v) All parts of a question should be attempted together.
(v) Marks for each question are indicated against it,

T — ‘%’ (QETeTe)

Part-‘A? (Accountancy)

L. R 39 @ P IR YeR THend | 2
Explain any four kinds of Preference Shares.
2. 'm—mﬁam'ﬁw‘w—aﬁw'ﬁﬁs‘ﬁww| 2

Give any two points of difference between “Gaining Ratio’ and *Sacrificing Ratio’.
3. uRadRie Yot vd e ot # o @7 e qarey |
Give any two points of distinction between fluctuating capital and fixed capital.
4, Wﬁﬁ‘fmﬁwmw%?waﬂﬁm 2
What is Employees Stock Option Scheme ? Clarify.
AmawwﬁW%lﬁﬁﬁmmﬁﬁwﬂmﬁﬁwaﬁmmﬁuﬁ
HEERN Word § $1F yrau T8 &
() Avs dfsa wEEr &) 98 iy of 2 10,000 T @1 AT Fowar |
(i) BS WH &I swor f2ar &) a8 =0 qv 10% a1f¥es % & saror &) AT war |
(iii) ASTR B St & 9 3 weer 310,000 3R 720,000 5 § o R § | AT & fF am
%1 JCIRT aXER B | 3

Aand B are partners in a firm. State whether the claim is valid if the partnership agreement is silent in
the following matters :

(1) Ais an active partner. He wants a salary of ¥ 10,000 per year.

(ii) B had advanced a loan to the firm, He claims interest @ 10% per annum,

(i) Aand B contributed ¥ 10,000 and ? 20,000, respectively as capital. A wants that the profits be
shared equally,
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6. e o1 @ i o 22,00,000 % ST 5 T 10 31T 20,000 wHaT 9t #F fenfora & | gwd
F 12,000 AT 3T ST @I FifEg 5y 70 3R 39 v § 72 amded—ua, T43Eed W
Uq ¥ 4 WUH AT ATH YA UR TG € | W AR qAHY U1 B T € | SR @) yradi
4 O @ oNged® o Iy | 3
The authorised capital of Mohan Ltd. is ¥ 2,00,000; which is divided in 20,000 equity shares of ¥ 10
each. Out of these shares, 12,000 equity shares have been issued to the public payable as : ¥ 2 on

application, ¥ 4 on allotment and ¥ 4 on first and final call. All the amounts have been duly received.
Pass the necessary journal entries in the books of company.

7. 31-12-2012 & 99T gV 99 & forg e wg e @ 10,000 A S wfife i €

SUE YEEl | g€ 9 4 € b -

31-12-2011 @I &7 HaT T 2,000 o7 |

31-12-2012 @1 35T =eT € 4,000 217 |

31-12-2011 &1 AUF Y =&T T 3,000 o7 |

31-12-2012 @7 Iffs e =€T T 2,000 o |
31-12-2012 &1 wATST 8¢ 99 @ fog =T ¥ g3 omy &t vEr Hifvre | 4
The Receipt and Payment Account for the year ended 31-12-2012 showed a debit entry of ¥ 10.000.
From the information available, it is found that :

Subscription outstanding on 31-12-2011 was ¥ 2,000;

Subscription outstanding on 31-12-2012 was T 4,000

Subscription received in advance as on 31-12-2011 was ¥ 3,000;

Subscription received in advance as on 31-12-2012 was ¥ 2,000;
Calculate the income from subscription for the year ending 31-12-2012.

8. I iR M 5:4 % U A @i B dicd Y WEIER & | 9 Hied @ 54 & 13 R @ frg
. wdw ad € fOre 98 YW 9 2/9 3% T ¥ 1/9 9T 2 8% 7 1,500 Nifm & w9 § oirer & | Jie
@ YUY U¥ AaaD o+l wiaftedr Siforg | 4

Ram and Shyam are partners sharing profits in the ratio of 5 : 4. They admit Mohan in the firm for
1/3rd profit which he takes 2/9th from Ram and 1/9th from Shyam and brings ¥ 1,500 as premium.
Pass necessary journal entries on Mohan’s admission.

9. RN FIAY — 242=4
(@) st Goit 9 fFrifie doh (@) ofei & gvor 3R afwi @ wady
Distinguish between —

(a) Authorised Capital and Issued Capital (b) Forfeiture of Shares and Surrender of Shares

10. & S S T 10 Grel 3,000 HAEAT 3 10% e W Fifw Y g w72 ames w
T3 aMded U¥ ek ¥ 5 U Ud Sifs aradr R <9 § | vH 4, e ure 800 siw § v ud
AT AT BT T T {Par | T SHD AT Bl BT By forar AT R 3= 5 wigwe
weielt ox g et faar T | s o gt § it @ wRer gd gt e @ ot
gfaftedt ahiform | 4

A company issued 3,000 equity shares of T 10 each at a discount of 10%. On these shares payments are
to be made as follows : ¥ 2 on application, ¥ 3 on allotment and ¥ 5 on first and final call. Ram, who is
a holder of 800 shares, has not paid the first and final call, hence, his shares have been forfeited and
have been re-issued at a discount of 5%. Make journal entries in the books of the company for the
forfeiture and re-issue of shares.
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frifener wemert 4 AT @ qwid! ¥ wia & smavae oy SR — 242 =4

(%) T 100dTet 2,000, 7 % FeOTH ST W i 5 T & SR ST e 4 9% i
W fdar o &

(@) T 10091 2,000, 7 % FOTTH 5 % Ferd W PR B Y € iR s e 0y v
HfATH o= BFT & |

Pass the necessary journal entries in the books of A Ltd. in the following cases —

(a) 2000, 7 % Debentures of ¥ 100 each are issued at par and are redeemable at 4 % premium.
(b) 2000, 7 % Debentures of ¥ 100 each are issued at 5 % discount and are redeemable at 2% %
premium.

. F=feRea & =T @1 sum s B - 3=

(®) RAIR S, 7:3% UG # A BT fEwTor B2 8U WEER & | ToH % 79 were
@ WY H T BT & 3R R 2770 S 1/7 9T PR 2

(@) X8R Y,7:3% arqur & ATH—BI BT 9T B BY e F €| 29 9eeRr 8
w9 3 gaer faar orer #1129 var X R 8 1/7 T T Fvell & 3N Y a9+ i
@ 1/3 ST I BT 2 |

Determine the sacrificing ratio from following —

(a) RandS are partners sharing profits in the ratio of 7 : 3. T joins the firm as a new partner and takes
2/7 from R and 1/7 from S.

(b) X and Y have been in partnership sharing profit & Loss in the ratio of 7 - 3. Z is admitted as a
partner. X surrenders 1/7 of his share and Y surrenders 1/3 of his share in favour of Z.

3T (OR)
wﬁmﬁwﬁ#nﬁwaﬁﬁﬁwﬁmﬁﬁaﬁg@mw—
ger % 20,000 gerg ay % 28,000
feera of 2 22,000 ggef ad Z 34,000

mﬂaﬁﬁﬁmﬁ%ﬁzl,zn,ﬂﬂﬁhﬁ%ﬁﬁ%ﬁ?@ﬁ@%ﬁwvﬁﬁuﬁwaﬁﬁ
m%%laﬂfﬁﬁm%ﬁwaﬁmm@wﬁﬁfﬁﬁﬁﬁmwﬁmwwﬁrakw

&1 TOET BT | 6
A partnership firm earned net profits during the last four years as follows —

Ist Year < 20,000 3rd Year T 28.000

2nd Year % 22.000 4th Year < 34,000

The capital investment of the firm is ¥ 1,20,000, A fair return on the capital having regard to the risk

involved is 10%. Calculate the value of Goodwill on the basis of 3 years purchase of average super
profits earned during the above mentioned period.

.w%ﬁa@ﬁwmwm%ﬂﬁ?mmﬁmmﬂmﬁa%mmwmﬁaﬁ

By | wrelsr U3, S, WM AFaT T AR AT TP TR T 2.50 39 2 §1 30,000
st & fory wielar w3 ura gU | WuTerat ¥ el @7 FrEifed sirdes R —

15,000 31 & SMATDHI BT —  {ET aded

9,000 3fEl % A<Dl B — 5000 373

6,000 3%l & aATATHT BI - B A8
et wfftest ST, 7 A gy o re @ ades qur AreEe uv S ad e o
B TE B . 6.
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Tata Ltd. issued a prospectus inviting applications for 20,000 shares of 7 10 each, payable on application;
on allotment; on first call and on final call ¥2.50 each. Applications were received for 30,000 shares.
Directors allotted the shares as follows —

To applicants for 15,000 shares —  Full allotment
To applicants for 9,000 shares ~ — 5000 shares
To applicants for 6,000 shares - Nil
Give journal entries assuming that all sums due on allotment and calls have been received.
JEEAT (OR)

forg fofree 3 7 100 1,000, 15 wRwer seor—w= 10 wioera Mfem w frifia f6e o
frafifa v | 29 o —
e U Z 25 (3 5 Wi afga)
3T U z 25 (T 5 Wiftme wfEa)
werd g 3T g U 60
1,400 T3 B forg FefA—uA ure gy R Wl Mt wI sguiiie aged @) fa
T | SR @ W G it ¥ UTE g8 Swm! aiees o <a ik # wanT fhar
HHET ) YRGB A Ol @) Aavae wiaftedl o |
Shiv Limited issued 1,000 15% debentures of ¥ 100 each at a premium of 10% payable as follows —
% 25 on Application (including premium of ¥ 5)
7 25 on Allotment (including premium of ¥ 5)
Z 60 on First and Final call
Applications were received for 1,400 debentures and the allotment was made to all applicants

proportionately. Money overpaid on application was utilised towards allotment. Pass necessary journal
entries in the books of the company.

14. ' Torg @1 frafolRa gET & AFER WX AT—Y 9, 31 fewmy 2012 @ forQ R

HTY — 6
T a9 B T a9e 8¢ %40
Trel 9§ @& T a9 &Y T 360
el 9§ & T WKl 76l 8¢ 760

AT — ER BT BT €20; el ok T 120; WU e | WK YA 250,

A — 9aF € 200; AV T 24; BUE T @ 6l X 60; WA E B wHdl
Z 170; AEER FT Fqorgd ¥ 136; fawrelt T 80 vd R T fbvmam % 100 |

areT T — FOEE @A T 16;  OTET 8 WAL T 44; bs IIp) 1 STad, 2012 B X 36
dor 31 fewmay, 2012 @1 T 56 |

On the basis of following information, prepare Income & Expenditure Account in the books of Hind
Club for the period of 31st December, 2012 —

Subscription received for the previous year ¥ 40.

Subscription received for the current year ¥ 360.

Subseription not received for the current year  60.

Receipts — Rent of room ¥ 20: Games Fees ¥ 120; Cash received from canteen ¥ 250.

Payments — Salaries ¥ 200, Repairing T 24; Printing and Stationery ¥ 60; Canteen articles F170:
Wages of Watchman ¥ 136; Electricity 7 80 and Rent and Taxes T 100.

Outstanding Expenditure — Repairing expenses ¥ 16; Canteer: articles T 44; Cash balance on
January 1st, 2012 ¥ 36 and on 31st December, 2012 ¥ 56.
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15. A.Baﬂacmm%ﬁf:mﬁﬁﬁamﬁwmﬁﬁﬁ?ﬂﬂwﬂﬂﬁwﬁﬁaﬁ&
31 fermay, 2012 &t %1 o o —

qofl g9 S1fdea ERIRT LD ERTIT

d 3
fafaer s9er 15,000 A q2r W 50,000
2y fauz 7.000 HHTEY 7,500
Tl @ it 38,000
A 7 40,000 &8RN 15,000
B ¥ 35,000 e faus 7,500
c g 25.000 1,00,000 b BT 4,000
1.22,000 1,22,000

g& T §T T fob 1 9=a¥Y, 2013 &1 D &7 Tifie famar S1q 3R Fr=ferfem oiet & sraR o

A 1/10 ez e wiy —

(i) wmnmﬁﬁwaﬁﬁgﬁ%mﬁ?15,ﬂuaaﬂ?w%a%ﬁ1q¢?,5mmm
forer e wTSeTRY g W @ ferar wime |

(ii) H B LTS T 34,200 W iR BaR 7 26,600 T fayy w7077 |

(iif) STy o SRy 21,3009 99|

(iv) 4 o 79 & T F 215,000 9 afe 250

mmﬁﬁfﬁaﬁ%mﬁmaﬁmuﬁr&mraﬁﬁmaﬂ?mwﬁ

FHRTST ST 99753 | 8

Balance Sheet of A, B and C, who shared profits and losses in the ratio of 6 : 5 : 4 respectively. as on
31st December, 2012 was as under :

Capital and Liabilities Amount Assets Amount
T 4

Sundry Creditors 15,000 Land and Building 50,000

Bills Payable 7,000 Furniture 7,500

Capital Accounts : Stock 38,000

A T 40,000 Debtors 15,000

B T 35,000 Bills Receivable 7.500

C ¥ 25,000 1,00,000 Cash in Hand 4,000

1,22,000 1,22,000

It was decided to admit D on 1st January, 2013 and given him 1/10 share in profits according to the

follownig terms —

(i)  The new partner would bring in ¥ 15,000 as his share in capital and ¥ 7,500 as goodwill in cash
which will directly be taken by the old partners,

(i) Stock would be revalued at ¥ 34,200 and Furniture at 7 6.600.

(1ii) Provision for bad debts to be made ¥ 1,300.

(iv) Land and Building to be appreciated by ¥ 15,000.

Pass necessary journal entries to record the above arran gements and prepare Profit and Loss adjustment

account.

AT (OR)
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A,Baﬂ?CJ:z:lzﬁﬂwﬁwﬁmmmmﬁngmwﬁﬁl31nﬁi 2013
31 9T onfdfe Rree ffafe o —

ol vg s IR ety IR 16.
(4 z
17.
[GEEIR 8,000 CEg 1,600
27 faum 1,600 Efar 10,400 18.
ol @ R 12.000
A % 16,000 GEIGE 9,600 19.
B % 12,000 3T was 14,400
C % 10,400 38,400
48,000 48,000 |
A, 1 a1t mnaﬁwa“ﬁm%aﬁvwﬁﬁaﬁqﬁaﬁwﬁﬁmaﬁ?ﬁﬁ
yeiea frmfafaa we far mar o : 2
vefaar % 9,600 LR AR % 11,200
T % 8,800 CIERCIREE 7 18,600
SRR % 7,900 7 faus 71,500
e @4 7 800

wwﬁgm%mmﬁmﬁﬁ%iﬁﬁmﬁﬁwmﬁﬁw%m
1 TED FOT W # ENArERa oY [T O 8 | Savdd Wil ST |

A, B and C are in partnership business sharing profits in the ratio of 3 : 2 : 1. Their Balance Sheet as on
31st march, 2013 was as under —~

Capital and Liabilities Amount Assets Amount
T T

Creditors 8,000 Bank 1,600

Bills Payable 1.600 Stock 10,400

Capital Accounts : Debtors 12,000

A ¥ 16,000 Machinery 9.600

B T 12,000 Land and Building 14,400

g 710,400 38,400
48,000 48,000
A retired on April 1, 2013 and on that date assets and liabilities of the firm were revalued as under :

Stock T 9.600 Debtors T11.200
Machinery 7 8,800 Land and Buildings T 18,600
Creditors T 7.900 Bills payable T 1.500
Outstanding Expenses T 8OO

Assuming that the above adjustments are duly carried through. After A’s retirement, balance in his
capital account is transferred to his loan account. Prepare necessary accounts.
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Part — ‘B’ (Analysis of Financial Statements)
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16. faxirg faavoil & faweryor @ gt <1 fART o1 daw § v | 2
Explain briefly any two techniques of analysis of financial statements.
S 17, Aos 98E v gar & ? 2
What is cash flow statement ?
18. faxiia Rexei & &=t &= steai & weg 3 Twensy 3
Explain briefly any three objectives of financial statements.
19.m%mﬁmﬁ%ﬁmﬁuﬁﬁmﬁmﬁ— 1x3=3
() W1 aact Ui (@) Uoit smad s
(1) wf=merT s
1 Show how you will calculate the following ratios —
] (a) Inventory turnover ratio (b) Capital turnover ratio
T (¢) Operating ratio
20. Af¥ R Bfe & gommers sifes 9 wea & -
Afa. B far.
_ ? 4
Gl gHRE! 4,00,000 6,00,000
wel S 80,000 2,00,000
@l gfdaer 3,20,000 4,00,000
YRE BRI BT HO-SET aure P | 4
The comparative figures of A Ltd. and B Ltd. are given below —
A Ltd, B Ltd.
4 4
Total Assets 4,00,000 6,00,000
Total Liabilities 80,000 2,00,000
Proprietors’ Fund 3.20.000 4.,00.,000
Calculate the Debt Equity Ratio for each company.
21. 31 fewmay, 20129 2013 & w1 e gawerr fon gwT g o ) & —
i 2012 2013 W RTRT 2012 2013
z 4 T 4
afer Tof 3,00.000 [ 3,00,000 | HIT WETAT &9 | 2.50,000 | 2.40,000
" 99 13,250 6,000 I YT B8 45,000 42.500
fafay oFer 4250 | 2,000 | Wi 2,500 500
CREIR 7.500 5,000
NEaSS 12,500 | 20,000
3,17.500 | 3,08,000 3,17,500 | 3,08,000
aa‘zmaﬁam#rwa%mﬁﬁaﬁfm,az,smamﬁmﬁrmﬁm‘wﬂmaﬁfﬁmw
| WO 9 @i & el § yRads gufe: 2013% B9 & BN § | Ahe—a8 Raww R
B | - 6
432 (IBD) [ 7] [ P.T.O.


https://schools.aglasem.com/
https://schools.aglasem.com/

Aglasem Schools

Ekta Ltd. has presented the following Balance Sheets as on 31st December, 2012 and 2013 -

Liabilities 2012 2013 Assets 2012 2013
T T z 4

Share Capitals 3,00,000 | 3.00,000 Building Less Dep. | 2.50,000 | 2.40.000
General Reserve 13,250 6,000 Plant Less Dep. 45,000 42,500
Sundry Creditors 4.250 2,000 Stock 2,500 500
Debtors 7,500 5,000

Cash 12,500 20,000

3,17.500 | 3,08,000 3,17.500 | 3,08,000

Sales made by the company amounted to ¥ 10,92.500 during the year 2013. No dividend has been paid

by the company. The changes in Building and Plant Values are fully due to depreciation charges for
2013, Prepare a Cash-Flow statement.

AT — *‘T'I(Hﬁlﬁﬁﬁﬁ GECIGE)

Part — ‘C’ (Computerised Accounting)

16. &t # e @ Ae<iua 9 €A @ ufhar Wy | 2
Explain the process of creating single and multiple groups in Tally.

17. goigeime Siediec «r 8 ? b
What is electronic spreadsheet 7

18, STCTIH &= YUITell &1 @I3 o [Ae9yan garsy | 3

State any three characteristics of database management system.

19. Tedd ¥ 99 WH 9Tl ©: 91el & A9 §d130 |
Name any six charts that can be created in Excel.

20. ‘STERYT YBare’ ¥ o9 @ §ued £ 7
What do you mean by ‘basic query’ ?

21. (@) #es wems for. 60 sfderdi @ figaa @ & e 9em 3 1907 9om, #es =, Jer e
T e wEe e e i & | pam & Fefaied a8 v 6 o e @
forg FrferRas SreT @1 TRUE. TR H SUERT SR 8 AN, § wee fofEy
Heprd fberdr ww ¥ 30,000 A ddT dF T 5,000; T 40,000 HA ITH aF T 6,000;
% 50,000 §& 9+ 9 e 9% T 7,000
et s ot — g 999 BT 30% BT X T BT EaH T 6,000 - 4

M/s Mahendra Ltd. employes 60 persons whose salary comprises basic pay. dearness allowance.
house rent allowance and city compensatory allowance, The following are the rules that govern
the payment. Write the queries in SQL using the following data in MS-Access to compute the
allowances :

House Rent allowance : ¥ 5,000 upto a Basic pay of T 30,000; ¥ 6,000 upto basic pay of T 40,000
¥ 7,000 for basic pay above T 50,000.

City compensatory allowance (@ 30% of basic pay subject to minimum of ¥ 6,000.
(@) = T & MR W AfE 7 aiffe 2 @ 5% $ auer o Sredie s iRk | 3
U DI GG — 10,000 RV &) G s HIfew fhvat @ gERI - 7 200

Write spread sheet formula to find out monthly and annual rate of interest on the basis of following
information —

Loan Amount—¥ 10,000  Term of loan— 5 years  Amount of monthly instalment — ¥ 200

Lia

L

LRSS E R Y 53
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